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Fnd the value ch X .

3. (10Y(6) = (1) (x)
) 606 ¢ \ALX
‘ T

DGR = (a)(x-7)
(Y0 = 4x-27
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Find the value of X.

6.
(;(\oa-é.) z S(x«&x)
6 = ¥x +64
32 = ¥X
%8.

36 = (x-2)(ax+2)
3 = ’z.xq“t’Lme - b
O = 2% = WX - LD
O = Y= % -10

o =(x-8){xsk

0(t0r8) = (o) [ (o)

5(547) = x(x+4)
60 = K-+ 4X
O = %' t4x-60
0 = (xx0)(x =¢)
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\V 2/\ ‘ | x +4
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. x (x412) = (x+4)"
twﬁf\ibzrﬂ xFemx = xT Fx 1l
576 = 44 vLX 2Zx = ¥Ix 416

L 432 T \x Lx = |6
[me= x * 4

‘r—\nc\ the value of %; counding to the nearest Tenth.

1S (x+3) = 2% (12)
(5% + 45
LS
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24 %
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.l
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% (45) = 27 (56)

45% = (350
X = 30
5.
| Qﬁﬁ z w(%xa+2)
2 = X'




% MULTIPLE CHOICE Which of the following is a possible value of x?

e
k @ -2 A zm
© 5 . @ v X 2%+ 6

X==2 § a

2(2x46) = (X)(%)
v + 12 = Y2 Solutien to the
o = X -4x -2
o = (x-¢)(x+ 1) / we only consider
B X=b|: X=-Z pu:s-s"(‘»\rt Measuies
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7. (s,
14
12 /1S
P

@" = 6(64Pa) (@R)" = W14+ 12)

Wy = 36+ 6(PQ) ’ (QR)" = 364

wy = 6 (rQ) QR = {34
L_l"!; = PQ .
R Thm:  (@F)" + (QR) = (PR)"

(aey + (FF@)" = °
(QFY + 3e4 = 676
(@f) "= 312

Qf = B
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